
ICS Part 2 Computer Science Chapter 5 Online Test

Sr Questions Answers Choice

1 A label is meaningful only for
A. for
B. while
C. goto
D. all

2 Go to statement can not work properly without
A. condition
B. operator
C. label
D. none

3 The statement that is used for an
A. while
B. all
C. for
D. goto

4 The set of statement that executes repeatedly due to loop statement in called
A. code of loop
B. body of loop
C. loop structure
D. all

5 How many times the instruction in the body of following loop will execute for (x = 1; x < 5; x
++)

A. 3
B. 4
C. 5
D. 6

6 The loop statements in a language are
A. 2
B. 3
C. 4
D. 5

7 The instruction that is used to execute a statement or set of statements is
A. while
B. for
C. do-while
D. all

8 Which of the following is not a data type ?
A. text
B. number
C. picture
D. date/time

9 In Access, the structure of a table is created in -------------- view
A. design view
B. data sheet view
C. a and b
D. none of them

10 A record is a complete set of ------------------- field
A. distinct
B. related
C. designed
D. all of them

11 Microsoft Access saves the database with extension
A. mdb
B. msdb
C. madb
D. none of them

12 Which of the following object is used to retrieve data from database and present in a
formatted way ?

A. report
B. form
C. table
D. query

13 The output of a query is in the form of a
A. table
B. form
C. report
D. tables

14 Which of the following object of database is used to retrieve data from database ?

A. queries

B. forms
C. parts
D. tables

15 A database consists of various components called the
A. tool
B. properties
C. entities
D. object




